
 

 

 ا�
رس ا�����

 


ـــــــــــــــــــــــــــــــــــــــــ� ا�ــــــــــــــــــــــــــ
رس�� 

Aن����
��ن �������ن �� B ، A و M  �����ن �� (D)  ت����� (D’) و (D)  

A  ن����
  N و C  �����ن �� (D’) ت

�$ ا��#�"!ة���:�#!ه&%   

AM

AB
  =  

AN

AC
  =  

MN

BC
ن  ( �    (BC)  ⁄⁄ (MN)  ذا آ�ن إ  

 %��$ ا��-����:�#!ه&%   

.�  و آ��0 ا�&�/  N , C , A , B , A �� ��$ ا��!ت
AM

AB
  =  

AN

AC
ذا آ�ن إ   

ن (� (BC)  و (MN) ��3ازی�ن  

 

4ا����ریــــــــــــــــــــــــــــــــــــــــــــــــــــ�   

 ا���!ی� ا6ول 4

 


	ازي ا���ع� ABCD  �
�� 

EF ⁄⁄ AB����  Fو E , I  ا���� �
�� 

AE = 1     ,  AD = 4    ن��:     

                                                 DC = 6      و     AC = 8  

EI و AI   1-��  أح

IF  و  IC   2-"
�
  اس

 

 ا���!ی� ا����7 4

 

B  $%  &( ا�)اوی*+, �-.�  ABC �
�� 

[BC] و [AC]  ��  ن+

�  I و J   ن�0�� 

(BC) 1-2 دي	42  (I J)  ���� 

AC = 5 و  BC = 4  �
�� 

(AB)  ;;  (IJ)  1-أن ���  

x – 1

x
 = 

3

5
  ��� أن-2    

IC  3- "
�
  اس

 

 ا���!ی� ا�8��7 4

 

�-.� ABC  �
�� 

BC = 3 و AC = 3, AB = 4  ���� 

AC و AB  �� ن+
 E و F  ن�0

(BC)  ⁄⁄  (EF)   ���� 

EF = x – 
y

2
 و FA = y ; EA = x – 1  و 

 3x – 4y – 3 = 0  و  x – 2y = 0   1-أن ���  

F I E 

CD 

B A 
 

A 

B C 

I 

J 

x 
(x-1) 

 

B A 
E 

C 

F 

 

 



 

 

  ��7 ا��46&-2

         2x – 5y = 0 

(S) 

         x – 2y = 0 

AEF   �-.4ال ا�	أ9 "
�
 اس

 

 ا���!ی� ا�!اب� 4

 

AB = 10    ����   +:�;� ABCD  �
�� 

 

 

(DB) و (AB) �� ن+

�  E  وF   ن�0�� 

FB = 4 2   AE  = 6   ����:  

(BC)  ⁄⁄ (EF)  1-أن ���  

EF  2-&4�, "
�
  اس

 

 

 

 

4 $��
 ا���!ی� ا�

 

 (AB)   ⁄⁄  (CD) ���� ف;��� =>?ABCD �
�� 

 

[BD] و [AC] �ت�+�9 ا��0;ی I و  

BI = 2      و   CI = 5  ���� 

                                                                  AB = 4    و    AI = 3 

ID  1-��  أح

 ACو BD �� ن+

�-E  2  و F  ن�0��  

                                                            AF = 4       و       BE = 
8

3
 

(DC)  ⁄⁄  (EF)   -أن ��� a 

EF   -&4�, "
�
 b اس

  ا���!ی� ا���دس 4

 


	ازی& � )DC) و(EF) و(AB(  ;>

7 ن:Aا� $% 

 

 

 

 

 

 

F 

B 

D 

A E

C G 

 

 A 

E 

C B F 

D 

 

A B 

C D 

I 

 

 



 

 

BF × DC = EF × BC و  EF × CB = AB × CB 1-أن ���  


" أن -2�
: اس  

1

EF
  =  

1

AB
 + 

1

DC
   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

� �#!ه&ـــ% ت��ریـــــــ�>ـــــــــــــــــــــــــــــــــ;���$ــــــــــ   

 >; ا���!ی� ا6ول:

 

1-  

� �<;ه�& C��+9 ا�4<+?;ة� ��Eی�+  (AI)  ⁄⁄ (FC) ح

(1)  
IA

IC
   =  

IE

IF
  = 

AE

FC
   

 

IA = 
AE

FC
 × IC = 

AE

BC - BF
 × (AC – AI)      (1)  �� ح

 

:ذن إ  BF = AE   +ی�E�:  

IA = 
AE × AC

BC - AE
 – 

AE × AI

BC - AE
 

 

IA (1 + 
AE

BC - AE
) = 

AE × AC

BC - AE
 

 

IA × 
BC – AE + AE

BC - AE
  = 

AE × AC

BC - AE
 

 

 

       IA = 
AE × AC

BC
 

 



 

IA = 
1 × 8

4
ع                                                                   .ت       2 =   

EF = AB                                                                                 +ی�E�  � 

F є (BC) و E є (AD)  ازي ا���ع  و	
� ABCD ن� 

EF = EI + IF  

IF = AB – EI  ذن                                                                          إ  

IE

IF
  = 

AE

FC
� ا�:�,& (1)                                                                 � ح

IE = 
AE

BC - AE
 . (AB – IE) 

IE + 
AE

BC - AE
 × IE = 

AE × AB

BC - AE
 

(1 + 
AE

BC -AE
) IE = 

AE × AB

BC - AE
 

(
BC – AE + AE

BC - AE
) IE = 

AE × AB

BC - AE
 

BC

BC - AE
 IE = 

AE × AB

BC - AE
 

                                         IE = 
AE × AB

BC
 

IE = 
1 × 6

4
 = 
3

2
ع                                                             .ت       

2- "
�
  اس

IC = AC – AI  

     = 8 – 2 = 6 

IF = EF – EI = DC – EI 

    = 6 – 
3

2
 

    = 
9

2
 

 >; ا���!ی� ا����7:

 

A  $% &( ا�)اوی*+, ABC  ن� (BC)  1-2 دي	42 (AB) 1- 4+ أن�  

(BC) )��
�
	ازی+ن �ن4K+ 42	دی+ن 2-1 نCJ ا�4� IJ و  AB %L ن  

: نM>0 �<;ه�& C��+9 ا�4<+?;ة -2  

% L ن: (IJ)  ⁄⁄  (AB) 4+ أن� 

CA

CI
 = 

CB

CI
 = 

AB

IJ
 

CA

CI
 = 

AB

IJ
ذن                                                                                   إ    

 



 

5

x
 = 

3

x - 1
 

x – 1

x
 = 

3

5
 

x – 1

x
 = 

3

5
              : ن�7 ا�4:+د�& -3                   

5 (x – 1) = 3 x  

5 x – 5 = 3 x 

2 x = 5 

x = 
5

2
   

IC = 
5

2
                                                                              $�+
 و �+�

 

 >; ا���!ی� ا�8��7:

 

(EF) ⁄⁄ (BC)  ی�+ حE� C��+9 &ه�;>� ��  

AE

AB
  =  

AF

AC
  =  

EF

BC
 

AE

AB
 =  

AF

AC
                                                                            :ذن إ�Eی�+    

x – 1

4
  =  

y

3
                                                                          :ی:�$ أن�    

3 x – 3 = 4 y                                                                                 �أن  

 

3 x – 4 y = 3                                                                               $�:ی 

AF

AC
 = 

EF

BC
 �� KP& أO;ى �Eی�+                                                                 

y

2
 = 

x – 
y

2

3
  ی:�$                                                                                  

3 y = 2 (x – 
y

2
) = 2 x – y                                                              $�:ی  

  2 x – 4 y = 0                                                                              $�:ی  

 

                           x = 2 y                                                 �أن 

 

             3 x – 4 y = 0    (1) 

   (S)   

             x – 2 y = 0       (2)  

 

  �Eی�+    x = 2 y   ن:	ض %$   (1) == >

3 × (2y) – 4 y = 3 

6y – 4 y = 3 

2 y = 3  



 

y = 
3

2
   

 

x = 2 y = 3  

EA  = x – 1 = 2                                                                       $�+
و �+�

 FA = y =  
3

2
  

EF = x – y = 2 – 
3

2
  = 

1

2
 

1- C��+9 &<;ه��4+ل :
� اسRازي ی	
� ا�سS-& ا�04+�<& �+�<;ه�& 2-1 ا�-Tأ $% =>
 ان

&��
 ا�:

(AD)  ⁄⁄ (EF)   أو 2-1 أن  (BC)  ⁄⁄ (EF)  ذن �-<;ه�& 2-1 أنإ  

(1)    
BE

BA
  =  

BF

BD
� أن ن<�� أن   Rی                                                          

 � و أن ت
	ن ا��D, F, B A,E , B   MJ ه$ %$ نCJ ا�
;ت�

BF

BD
     و    

BE

BA
�إ   �ذن ���  

BE

BA
 = 

AB – AE

AB
  =  

10 – 6

10
  =  

4

10
 = 

2

5
 

BF

BD
 = 

4 2 

BD
  

ABD    �-.4رس %$ ا�	T+.�% &ه�;>� �� ح

AB
2
 + AD

2
  =  BD

2
 

BD
2
 = 10

2
 + 10

2
 = 2 × 10

2
  

BD = 10 2       ذن                   إ                                                        

BF

BD
 = 

4 2 

10 2 
 = 

4

10
  = 

2

5
 

BE

BA
  =  

BF

BD
               $�+
                                                                و �+�

� �<;ه�& �T C��+9; ا�4<+?;ة �Eی�+إ (EF) ی	ازي (AD)  و ا�Wي�ذن ح  

(BC)  ازي	ی 

: نM>0 �<;ه�& C��+9 ا�4<+?;ة  AD  ازي	ی EF 2-4+ أن�  

BE

BA
  =  

BF

BD
  =  

EF

AD
  

EF = 
AD × BE

BA
  = BE = 4   ذن إ:                                                          

 

 >; ا���!ی� ا�!اب�:

 

� �<;ه�& C��+9 ا�4<+?;ة  �: ح AB  ⁄⁄  DC  +ی�E� 

ID

IB
 = 

IC

IA
 =  

DC

BA
  

ID = 
IB × IC

IA
ذن                                                                          إ         



 

     =  
2 × 5

3
 

     =  
10

3
  

2-;>-� &��
:ه�& 2-1 أن  �-<;ه�& 2-1 ا�
	ازي نM>0 �<;ه�& C��+9 ا�:  

� أن� ن<�� أنR) یDC) ⁄⁄ (EF( 

IE

ID
  =  

IF

IC
 

IE

ID
 = 

BE – BI

 
10

3

 

    = 
8

3
 - 2 × 

3

10
 

   = 
2

3
 × 

3

10
 

   = 
1

5
  

IF

IC
 = 

AF – BI

5
 

   = 
4 – 3

5
 

   = 
1

5
 

  � و �Eی�+ ا����  D , E , I و C, F, I  ت	EP %$ نCJ ا�
;ت�
IE

ID
  =  

IF

IC
 $�+
 و �+�

(DC) ⁄⁄ (EF) إ% &��
� �<;ه�& C��+9 ا�:�  :ن Lذن ح

(DC) ⁄⁄ (EF)  -+ی�E� b 

IE

ID
  =  

IF

IC
  =  

EF

DC
 

 

(1)  EF = 
IE

ID
 × DC    ذن                              إ                                      

DC  1-2 ��>ا� �Rی 

ذن إ  (AB) ⁄⁄ (DC)  م ��م �Eی�+ .ط.ح  

IA

IC
  =  

IB

ID
 = 

AB

CD
  

CD =  
IC

IA
 . AB  ذن                                              إ                               

     = 
5 × 4

3
 

    = 
20

3
 × 

20

3
 

EF = 
BE – BI

ID
 × DC 



 

     = 

2

3

 
10

3

 × 
20

3
 

  = 
2

10
 × 

20

3
 

  = 
4

3
 

 

 (ABC) �-.4و ا� (EF) ⁄⁄ (AB) 1-+ی�E�  

CE

CA
  =  

CF

CB
  =  

EF

AB
� مإ                                                      �م.ط.ذن ح  

(1)  
EF

AB
  =  

CF

CB
            $�+
                                                           و �+�

           (1)                 EF × CB = AB × CF    ذن                          إ  

 (DC) ⁄⁄ (EF) +ی�E� CDB  �-.4ر ا�+>
 و �+2

BE

BD
 =  

BF

BC
 = 

EF

DC
� مإ  �                                 م                          .ط.ذن ح

EF

DC
  =  

BF

BC
ذنإ                                                                                    

 

                (2)              BF × DC = EF × BC                         ذنإ  

: ت:$0   (1) + (2) 2-  

EF

AB
  + 

EF

DC
  = 

CF

CB
 + 

BF

BC
 

 

EF (
1

AB
  +  1

DC
) =  

CF + FB

BC
  = 

BC

BC
 = 1 

 

1

AB
 + 

1

DC
  = 

1

EF
ذن                                                                     إ       

 

 

 

 

 

 

 

 

 

 

 

 

 

 


